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Part 1: Pythagorean Theorem. Use the Pythagorean Theorem to solve for the missing side length
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Part 2: Converse to the Pythagorean Theorem. Determine if the triangle is acute, obtuse, or right.
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Part 3: SOHCAHTOA. Find the three trigonometric ratios for each triangle
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Part 4: Missing side lengths. Determine if you would use sine, cosine, or tangent,to solve fo
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then solve.
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Part 5: Missing angles. Determine if you would use sine, cosine, or tangent to solve for O, then solve.
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Part 6: Word Problems. Draw a picture to help!
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16. An airplane is flying at a height of 2 miles above the ground. The distance along the ground from the
airplane to the airport is 5 miles. What is the angle of depression from the airplane to the airport?
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17. A bird sits on top of a lamppost. The angle of depression from the bird to the feet of an observer standing
away from the lamppost is 35°. The distance from the bird to the observer is 25 meters. How tall is the
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